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QUESTION 1

Which of the following must happen before the Big SQL EXPLAIN command can execute?
A. Run the ANALYZE command

B. Set the COMPATIBILITY_MODE global variable

C. Execute the SET HADOOP PROPERTY command

D. Call the SYSPROC.SYSINSTALLOBJECTS procedure

Correct Answer: D

Reference: https://developer.ibm.com/hadoop/docs/biginsights-ibm-open-platform/getting-started/tutorials/ big-sql-
hadoop-tutorial/getting-started-with-big-sql-4-0-lab-6-understanding-and-influencing-data-plans/

QUESTION 2

A large Telecom company wants to store data from multiple databases into Hadoop. They plan to do bulk loads of data
into Hadoop and run analytical queries. Which data store would be ideal for this scenario?

A. Hive

B. HBase

C. BigSheets

D. Apache Spark
Correct Answer: B

Reference: https://developer.ibm.com/recipes/tutorials/big-data-and-hadoop-on-ibm-cloud/

QUESTION 3
Which of the following statements regarding importing streaming data from InfoSphere Streams into Hadoop is TRUE?
A. InfoSphere Streams can only write to HDFS not read from HDFS

B. InfoSphere Streams can only write directly to Biglnsights, not other Hadoop distributions like Hortonworks or
Cloudera

C. A Streams developer needs to account for the fact that Biglnsights may not be able to absorb the incoming streams
at the rate InfoSphere Streams is sending them

D. Adding a Big Data toolkit operator (for writing to Hadoop) to an InfoSphere Streams Processing Language (SPL)
application requires that the SPL application be recompiled

Correct Answer: B
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Reference: https://books.google.com.pk/books?

id=6BMLCwWAAQBAJandpg=PA15andlpg=PAl15anddg=InfoSphere+Streams+can+only+write+directly+to

+Biglnsights,+not+other+Hadoop+distributions+like+Hortonworks+or +Clouderaandsource=blandots=bAX5_-opwFandsi

g=ACfU3U2rhwLKLEes37evjJfMzxYMLP7NxQandhl=enandsa=Xandved=2ahUKEwi6gY 2soffoAhWIzaQ
KHREADDkKQ6AEWAHOECBcQJg#v=onepageandq=InfoSphere%20Streams%20can%200nly% 20write%
20directly%20t0%20BiglInsights%2C%20not%200ther%20Hadoop%20distributions%20like%

20Hortonworks%200r%20Clouderaandf=false

QUESTION 4

Which format would be best for holding semi-structured data?
A. Text

B. Avro

C.Csv

D. JSON

Correct Answer: D

QUESTION 5

Which of the following statements is TRUE about Apache Spark RDDs?
A. RDDs are immutable

B. RDD transformations return values

C. RDD actions return pointers to new RDDs

D. RDDs can only be created using Java APls

Correct Answer: B

Reference: https://spark.apache.org/docs/latest/rdd-programming-guide.html
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